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QUESTION 1

Which three features can be configured during the initial creation of a cluster? (Choose three.) 

A. Proactive HA 

B. EVC 

C. DRS 

D. vSAN 

Correct Answer: BCD 

 

QUESTION 2

Which option is true during a virtual machine cold migration? 

A. Data is transferred over the vMotion VMKernel interface. 

B. The datastore of the virtual machine cannot be changed. 

C. Migrating a virtual machine from an Intel-based host to a AMD-based host generates an error. 

D. Migrating a 64-bit virtual machine to a 32-bit host generates a warning. 

Correct Answer: D 

 

QUESTION 3

Which two types of network traffic can be used for vSphere High Availability (HA)? (Choose two.) 

A. VM Network traffic 

B. vMotion network traffic 

C. VMware vSAN network traffic 

D. Management network traffic 

Correct Answer: CD 

 

QUESTION 4

The Triggered Alarm on the VM shows Virtual Machine Consolidation needed status. How would an administrator
recover from this event? 

A. This must be done from the command line. 
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B. The only possible method is to clone the VM. 

C. In the vSphere WebClient, open Snapshot Manager of the VM and then use the Delete all button. 

D. In the vSphere WebClient select VM, right-click ?Snapshots ?Consolidate. 

Correct Answer: D 

 

QUESTION 5

An administrator is performing a scripted installation of ESXi 6.x. In which three locations does the script need to be?
(Choose three.) 

A. PXE Server 

B. HTTPS 

C. FTP 

D. NFS 

E. VVOLs Datastore 

Correct Answer: BCD 
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